
kf]lnlyg kfOkkf]lnlyg kfOkkf]lnlyg kfOkkf]lnlyg kfOk 
cfjZostf / pkof]lutfcfjZostf / pkof]lutfcfjZostf / pkof]lutfcfjZostf / pkof]lutf    

xfd|f] h:tf] kxf8} kxf8 ePsf] b]zdf kf]lnlyt kfOksf] w]/} pkof]lutf 5 . h:tf] xn'sf]kgf, lvof 
gnfUg] htftt}\ x'g], lkml6Ë ug{ ;lhnf], w]/} aif{;Dd vKg] OToflb u'0fx?n] ubf{ vfg]kfgL, l;+rfO{, 9n 
lgsf;, lgdf{0f OToflb sfdsf] nflu kf]lnlyg kfOksf] k|of]u g]kfndf k|z:t dfqfdf e}/x]sf] lbg k/ lbg 
o;sf] dfu a9\b} uPsf] cfwf/df o; pBf]usf] ;DefJotf lgs} ePsf] kfO{Psf]n] of] l:sd th"{df ul/Psf] 
5 . 
 
k|ljlwk|ljlwk|ljlwk|ljlw    

kf]lnlyg kfOk PS:6'zg t/Lsfaf6 pTkfbg ul/G5 . /fd|f];+u cf]egdf ;'sfPsf] kf]lnlyg 
u|fg'cN; PS:6'8/sf] xf]k/df /flvG5 . PS;6'8/sf] l;lnG8/sf] ljleGg efux? ljleGg tfkqmdx?df ttfO{ 
/fv]sf] x'G5 . of] l;lnG8/sf] leq Pp6f :qm" x'G5 . kUn]sf] / /fd|f];+u d'l5Psf] kf]lnlygnfO{ :qm"sf] 
d4tn] cuf8L lnP/ hfG5 . PS:6'8/sf] d'vdf ;fOh cg';f/sf] kfO{ksf] 8fO{ /fv]sf] x'G5 . ;f] 8fOaf6 
kf]lnlyg kfO{k lg:sG5 . To;/L 8fOaf6 lg:s]sf] kfOknfO[ ;fOlhË s]zdf 7Ls ;fOhsf] kfOk kfpgsf] 
nflu k7fOG5 . o;/L ;fOlhË ubf{ kfOknfO{ lr;f] kfg{ Eofs'd 6\ofÍd} / rfkt/Lsfdf ;fOlhË aS;df 
g} pks/0fx? /fv]sf] x'G5 . 6\ofÍ lr;f] kf/]kl5 xn ck d]zLgsf] d4tn] kfOknfO{ cuf8L tfgL /fV5 / 
kfOksf] pTkfbg rln/xG5 . 

 
o;/L kfOk agfpFbf lg:sg] ljleGg lju|]sf] kfOkx? k'gM k|of]u ug{ On]lS6«s s/f}tL / u|fOl08Ë 

d]zLg cfjZos x'G5 . o;/L u|fOl08Ë u/]/ lg:s]sf] 6'qmfx? km]/L kfOk agfpg] z'4 sRrf kbfy{df !%Ü 
;Dd ld;fpg ;lsG5 . kfOksf] nflu rflxg] ljleGg lkml6Ëx? agfpg Pp6f xft] OGh]S;g dfplN8Ë 
d]zLg klg cfjZos k5{ h;sf] d4tn] ;fFrf] cg';f/sf] ljleGg lkml6Ë ;fdfg ;s]6, Knu, a]08 cflb 
pTkfbg ug{ ;lsG5 . 

 
kl/of]hgfsf] emnskl/of]hgfsf] emnskl/of]hgfsf] emnskl/of]hgfsf] emns    

kl/of]hgfsf] gfd M– kf]lnlyg kfOk pBf]u    
pTkfbg Ifdtf M– aflif{s xfO8]G;L6L kfOk @$&%) lsnf]÷aflif{s #)) lbg, b}lgs * 306f    
pTkfbg x'g j:t' M– ljleGg ;fOhsf] xfO8]G;L6L kfOk tyf lkml6Ë;\    

1= sf/vfgf :yfkgf x'g ;Sg] :yfg M– zx/L If]qx?         
2= s'n k"FhL nufgL 

s_ s'n l:y/ k"FhL 
v_ s'n rfn' k"FhL 

    
?=670000.- 
?=278700.-    

?=957700.-    

3= ljlQo ;+:yfgaf6 qm[0f ;x'lnot— 
s_ bL3{sfnLg C0f  
v_ cNksfnLg C0f  

 

?=300000.- 
?=175000.- 

?=475000.- 

4= d'gfkmfsf] k|ltzt– 
s_ s'n k"FhL nufgLdf 
v_ :jnfut nufgLdf 

 

19.73% 

39.15% 

 

5= a|]s Oeg KjfOG6 -kf/ ljGb'_ 
s_ k|ltztdf 
v_ d'Nodf 

 

50.88% 

?=1236900.- 

 

6= d'gfkmfsf] 
s_ s'n jflif{s pTkfbg lalqmaf6 cfDbfgL  
v_ s'n jflif{s pTkfbg vr{  

 

?=2430900.- 
?=2241900.- 

?=189000.- 

7= /f]huf/L 
s_ k|ToIf /f]huf/L  

 

10 hjfg 

 

8= d"No clej[l4 27.68%  



    

l:sdl:sdl:sdl:sd    
l:y/ k"FhL ljj/0fl:y/ k"FhL ljj/0fl:y/ k"FhL ljj/0fl:y/ k"FhL ljj/0f 
1= hUufM !÷$ cfgf k|lt /f]kgL ?= $))))).–  ?=100000.- 

2= sf/vfgf 3/ 
s_ sf/vfgf ejgM !*Ú X #)ÚÖ $%) ju{ lkm6 
v_ uf]bfd 3/ !*Ú X !%Ú Ö @&) ju{ lkm6 
u_ sfof{no 3/ (Ú X !)Ú Ö () ju{ lkm6 
   k|lt au{ lkm6 ?= @%).– 
u_ ljB'tLs/0f 

 

 

 

 

?=225000.- 
?=15000.- 

?=240000.- 
 

3= d]l;g cf}hf/ 
s_ $% Pd=Pd= Jof; :s' ePsf] PS:6'8/ d]zLg, !) c=z= 
ljB't df]6/, ^ lsnf] jf6 lxt/, kfgL 6\of+sL ;lxt k'/f ;]6 !, 
b/ ?= !*)))).– n] 

v_ Pc/ sKk|;/ d]lzg % c=z= sf] ljB't df]6/ ;lxt k'/f ;]6 
!, b/ ?= @$))).– n] 

u_ xft] OGh]S;g dfpN8LË d]lzg, @ lsnf]jf6 lx6/ ;lxt k'/f 
;]6 !, b/ ?= !@))).– n] 

3_ :qmfk u|fOG8/ d]lzg % c=z= sf] ljB't df]6/ ;lxt k'/f ;]6 
!, b/ ?= @!))).– 

ª_ kfOk Sjfon ug]{ pks/0f ;]6 !  
r_ ljleGg lkml6Ësf ;fFrf]x? 
5_ cGo pks/0fx? 
h_ d]lzg 9'jfgL tyf eG;f/ %Ü  
em_ d]lzg h8fg tyf ljB'tLs/0f *Ü 
`_ ljljw 

 

 

 

?=180000.- 
 

?=24000.- 
 

?=12000.- 
 

?=21000.- 
?=3000.- 
?=9000.- 
?=10000.- 
?=12950.- 
?=20720.- 
?=7330.- 

?=300000.- 

4= kmlg{r/ tyf lkmS;r/  ?=12000.- 

5= pBf]udf nufgL cl3sf] vr{  ?=6000.- 

6= pBf]u ;+rfng cl3sf] vr{  ?=12000.- 

s"n l:y/ k"FhLs"n l:y/ k"FhLs"n l:y/ k"FhLs"n l:y/ k"FhL        ?=760000.?=760000.?=760000.?=760000.----    

         

rfn' k"FhL ljj/0frfn' k"FhL ljj/0frfn' k"FhL ljj/0frfn' k"FhL ljj/0f         

1= sRrfdfn df}hbft @% lbgsf] nflu ?=146500.-  

2= k|zf]wgdf /xg] # lbgsf] nflu ?=21180.-  

3= tof/L dfnsf] df}Hbft & lbgsf] nflu ?=49420.-  

4= pwf/f] ljqmL c;'ln !% lbgsf] nflu ?=70600.-  

s'n rfn' k"FhLs'n rfn' k"FhLs'n rfn' k"FhLs'n rfn' k"FhL        ?=287700.?=287700.?=287700.?=287700.----    

5= s'n k"FhL nufgL 
s_ s'n l:y/ k"FhL 
v_ s'n rfn' k"FhL  

 

?=670000.- 
?=287700.- 

?=957700.- 

jflif{s pTkfbg vrjflif{s pTkfbg vrjflif{s pTkfbg vrjflif{s pTkfbg vr{{{{   

1= Xf; s§L 
s_ sf/vfgf 3/ %Ü n] 
v_ d]lzg cf}hf/ !)Ü 
u_ kmlg{r/ tyf lkmS;r/ @)Ü 

 

?=12000.- 
?=30000.- 
?=2400.- 

?=44400.- 

2= aLdf -s'n l:y/ k"FhLdf hUufsf] d'No jfx]s_ !Ü  ?=5700.- 



3= Jofh -lb3{sfnLg qm[0f_ #))))).– !^Ü   ?=48000.- 

4= ck|ToIf sd{rf/L vr{– 
s_ Joj:yfks ! dfl;s ?=@$)).– n] 
v_ n]vfknf !, dfl;s ? !*)).– n]  
u_ lkog tyf kfn] ! dfl;s ?=*%).– n] 

 

?=28800.- 
?=21600.- 
?=20400.- 

?=70800.- 
 

5= sfof{no tyf cGo vr{ 
s_ d;nGb 
v_ lj1fkg 
u_ eQf kl/jxg 
3_ cGo b:t'/ 
ª_ ljlj3 

 

?=6000.- 
?=4000.- 
?=6000.- 
?=3000.- 
?=3000.- 

?=22000.- 

6= n]vfkl/If0f vr{  ?=5900.- 

s'n l:y/ vr{ Ms'n l:y/ vr{ Ms'n l:y/ vr{ Ms'n l:y/ vr{ M        ?=195800.?=195800.?=195800.?=195800.----    

7= sRrfdfn 
s_ xfO8]G;L6L kf]lnlyg u|fg'cN; @&))) lsnf], k|lt lsnf] 
?=^%.– n] 

v_ kfOk afFWg] l:6«k 

 

 
?=1755000.- 
?=3000.- 

?=1758000.- 

8= k|ToIf sfdbf/ vr{ 
s_ bIf sfdbf/ ! dfl;s ?= @!)).– n] 
v_ cw{bIf sfdbf/ *, dfl;s ?= !*)).– n] 
u_ ;xfos sfdbf/ #, dfl;s ?= !%)).– n] 

 

?=25200.- 
?=43200.- 
?=43200.- 

?=111600.- 
 

9= pTkfbg tyf cGo vr{ 
s_ ljB't dxz"n %&^)) o'lg6, k|lt o'lg6 ?= @.– 
v_ kfgL dx;'n 
u_ lu|h t]n df]ljn 
3_ dd{t ;+ef/ tyf hu]8f kf6{k"hf{ 
ª_ ljljw 

 

?=115200.- 
?=2400.- 
?=3600.- 
?=18000.- 
?=5800.- 

?=145000.- 
 

10= Aofh cNksfnLg C0f ?= !&%))) sf] !*Ü n]  ?=31500.- 

s'n rn vr{s'n rn vr{s'n rn vr{s'n rn vr{     ?=2046100.- 

jflif{s pTkfbg vr{jflif{s pTkfbg vr{jflif{s pTkfbg vr{jflif{s pTkfbg vr{  ?=2241900.- 

      

jfjfjfjflif{s pTkfbgaf6 cfDbfgLlif{s pTkfbgaf6 cfDbfgLlif{s pTkfbgaf6 cfDbfgLlif{s pTkfbgaf6 cfDbfgL    
s_ aflif{s vl/b sRrfdfn @&)) lsnf] ?= %Ü hlt{ s§f u/L 
afFsL @%,^%) lsnf]df ljleGg ;fOhsf xfO8]G;L6L kf]lnlyg 
kfOk @$&%) lsnf] k|lt lsnf] ?= ($.– n] 

v_ ljleGg ;fOhsf] xfO8]G;L6L lkml6Ë ()) lsnf] k|lt lsnf] 
?=!!^.– n] 

 

 

 

?=2326500.- 
 

?=104409.- 

?=2430900.- 

d'gfkmfd'gfkmfd'gfkmfd'gfkmf    
s_ s'n jflif{s pTkfbgaf6 cfDbfgL 
v_ s'n jflif{s pTkfbg vr{  

 

?=2430900.- 
?=2241900.- 

?=189000.- 

d'gfkmfsfd'gfkmfsfd'gfkmfsfd'gfkmfsf] k|ltkmnM] k|ltkmnM] k|ltkmnM] k|ltkmnM      

s"n k"FhL nufgLdf 19=73%  

OSjL6L nufgLdf 39=15%  

d"No clea[l4 27=68%  

 


